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Duod Modes TS0 T @D
Sare* doea’ | 0= :.foai
C . 2.30 dows 3.50 &N A 1 gm"‘
en:e_fpm» [aoa nox [Ty A
Wb, o3Q ﬂuﬁagi T} eodn":'.fa - g’””“ #o::!‘odaa'a; odond
80 Do 70 0D 60 60
TIna

douR SedunoEdes #1 Y X3 fom dmbrt . 2.30 ©T So¥u danoncyd.
L OFTID A73kS X0aG o) £..220.690", 30 T S0t 2 o e oRAs FFrieD oTheorsion Bondidord andSarRY,
Tgmg gl S dnen’ ShEh B Xosd 0D b..00.40F. SIS, S0 S LT XowoRus D Hoghrorme Bowie.
3T ded T doer’ ) 8T, CHI) T Cre'd Ty wicdiie.
5. bL.0.u0. ou3c m it SveRna nos ﬂCSQ_leJ‘E""F 3l Inciie.
SREded
I L20sT. I JHEDY WOOINDT 00N SRHE, IR / TOWIRMROD / YYNROD.
2. Hacde B . 2.40 § orogd. wQonadne,
o ¥ gﬂa'b VORNUYRT e v, oD,

B oo

I =3 weachs signs and symbolsm::b f.ﬁedméo:anmtsm AT T, YIS LTy Toriedxiee.

2; wé T3BoQ 2D 60 wiﬂ@% T ;-,.JSJL"' 4 23 tsoi: YUIonse TWID. J3 TPob durt deorich my
L.,a'b ©eled @ dﬁqu‘;.)m Lot '”vgmi wol SR8

3. Secde O vod .2.400 o3 Iy, sﬁéﬁcﬁc WORNSYDS ve Iich 3 TY TEoDY oI
UMD IOBTTNQTe WP oW WOTY ePR TJOW BRNGY CTm ciRPde oNW
DipmRehdols SoWGHE, LNUITRENCE, B 083 NGO weEd: doER Hedrnoood T TIFCDD,
LETRAERG 0T L.20.8T. W30 JFBoDY LIOTLD TROCLBITD.

4. =TI TIPeDYS TR YROEWNDT O LWITITW, L.D0.UT. NIT TBDY vk ED Tosjch oo

RO TOWORAT HIIW, N0 ogie D Zcod wYf ook I on XOWRLF BOWOTITH
BOoIRT 8,3 3@_’"5&71@: WRONG METHODS

CORRECT METHOD @@@ @@@@..@
POOP@®OE® @O0 ®

5. 8 LoouT. wID THPodM M IRDI R VB¢ AE TN g DI, I8 DI,
SHO0T L.20.ST. WD TSFCDY WIORmN 230E [k

6. TP TEODY SRS Y mnIw, OF IoxE wuTclaii. L.oosT. wuId TgEodm, wod
twZcdeenxded.

7. 8odod B wond . 350 ST F0I WIOWJTE, PN ) TR A -—«m B &.,ad'é romE,
b.20.00 . 030 T dcg ¢ 03 wnog mod.

8. L.wouT. wwIs wgﬁoj:m 8RUR emoson chgeysodg fe@o.
- 3olole ] aioegzsadsda aS:w?;nz:s TRYODT, g‘:%eﬁk (32 T3) 33, IBQ aLpiec Ivwdad CRTTCD,
(Candidate’s Copy) wgiprrieon demeg.

Aoed 03 S 30D TANWY IODT SLOFION ERETE IOOSTNGS TEM L), SRC0R XoBBIGY TN U0
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CHEMISTRY

1. NOj, NOj 303 NH; n¢ds i exa's 4. NH/NO; 3¢ Funexy® Io=neony
RogTrs  FEEAY  JesmomeTd  s-08m SO Fosd,
8,30mn,
E (A) -3,-3
(A) 25%,50%,33.3% (B) +5,+5
0, 0 0
(B) 33.3%, 50%, 25% ©) —3.+5
(C) 33.3%, 25%, 50%
(D) #3,-5
(D) 50%, 33.3%, 25%
5. womd Qo ey ‘X', LiAMH,
2. LERRROQDR T Ll
i Srodrt ST NG ITY, [IEFARR
TORREOT DI Bemdy wded
©¥,08 JWTOCINT LLVBI e,
i & ©R0SR) NH, crodr @t BN
(B) -l DOBODT  oed® 0 FTCDORS
© 0 TOOINYRTY, NeRIT. & LAY
(D) +2 (A) BF,
(B) B,0;
3. S =Fodeomd, S0 3D Jed T[N
S (C) B,H
T, DT, n¢Q, T, > T, SRNDT0E,
woTe T,IRET LVFS[RY docddR0OTN,
Qo anYOS WO AS; &I
AS, 85N SAGY. 6. Fnpindodos cdns wE o' BAZTOY ?
(A) AS,<AS, (A) K0,
(B) AS,<AS, (B) K,0
(C) AS,=AS, (C) KO,
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CHEMISTRY

1.  The percentage of s-character in the 4. The oxidation number of nitrogen
hybrid orbitals of nitrogen in NO3J, atoms in NH,NO, are
NO; and NH] respectively are :
Sl v A 23,53
(A) 25%, 50%, 33.3% FEg
B) 33.3%, 50%, 259
) s ileiobg ©) -3,+5
C) 33.3%, 25%, 50°
© Sa g (D) +3,-5

(D) 50%, 33.3%, 25%

5. A Lewis acid *X’ reacts with LiA/H,
2. The formal ch tral
e e s e in ether medium to give a highly toxic

Ao s ouanc.is gas. This gas when heated with NH,

(A) 2 gives a compound commonly known
(B) 5~ as inorganic benzene. The gas is
© 0 (A) BF,
(D) +2 ‘ (B) B,0,

(C) B,Hg

3. }N‘hen the same quantity of heat is (D) B,N;H,
absorbed by a system at two different
temperatures TI and T,, such that
T, > T,, change in entropies are AS, 6. The oxide of potassium that does not
and AS, respectively. Then : exist is
(A) AS,<AS/ (A) I'(ZO3
(B) AS, <AS, (B) K,0
(C) AS,=A4AS, (C) KO,
(D) S,>§, : (D) K,0,
Space For Rough Work

Chemistry : 3 ]
‘ collegedunias
India’s largest Student Review Platform




7.: «xo008  HCl &b

NaOH(aq) 10. 3 FNSYNYE, CARYTD BRI
Somoctes H, ©x) wudd Snaos SNDFOL ?
deem
(A) Fe (A) NO,
(B) Zn
©) Mg (B) CFC
(D) Ca (©) Co,
8. & SUNIPYNVY cIRFJYTD 8, e (D) O,
xR0 e 2
(A) CH;COOH and HCOOCH,
11. My 40 =e3
(B) C,H;OC,H, and C;H,0CH, e o e et i
(C) CH,CH,OH and CH,0CH, ud B'3Q, deEy M2 I M
(D) CH,CH,NO, and H,NCH,COOH
Lo s e K30 AW, 8 wd @Y M 3
9.  BdUNS 30honY X’ e T B, Besrmamnd Tmwesy BoTRod
VBFO AICI
+ 6Cly €5, x +6HCI (A) 9.6%
(WJ‘) #3e0, ZoTT
(B) 83%
cl
(A) @ (C) 4.6%
D 0,
% Cl i
= Cl
) 12, S 96003 T TuSeDE, BOVRUIS
Cl o
I cl dRrms TORRR &R V2 A° und.
3
© ci & puE $0e30 ™Y (M 39)
8 (A) 6.4x1073
cl Cl (B) 4x10710
(D) €) 64x102
Cl cl bk s
Cl (D) 4
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The metal that produces H, with both 10. Which of the following is NOT a green
dil HC/ and NaOH(aq) is house gas ?
(A) Fe A) NO
(B) Zn (A) 2
(C) Mg (B) CFC
(D) Ca ©) co,
Which of the following is NOT a pair (D) O,
of functional isomers ?
(A) CH;COOH and HCOOCH,
(B) C,H;OC,H; and C;H,OCH, 11. A metal exists as an oxide with
(C) CH;CH,OH and CH,OCH, - formula M, 4,O. Metal M can exist as
(D) CH,;CH,NO, and H,NCH,COOH M*2 and M*3 in its oxide M, ¢60. The
percentage of M™ in the oxide is,
Identify ‘X in the following reaction =5
6Cl, Anhydrous AICI Y
+ > X + 6HC/ -
(excess) dark. cold (A) 9.6%
o M (B) 8.3%
(A)
(C) 4.6%
cl | (D) 5%
Cl
(B) | .
12. A metal crystallises in face centred
Cl cubic structure with metallic radius
- © C ¢ \/§A°. The volume of the unit cell
Cl Cl (in m?) is
Cl (A) 6.4x10730
CI ~10
¢l cl (B) 4x10
(D) (C) 6.4x107%°
2 " D) 4x107
Cl (D) 4x
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13. /1, Oc00R00 TWTONTIVL WO &ert
' WHRNI
(A) p-SRE0 wdmEs
(B) n-Incd s
(C) n VB p CER TRTOD
Slemnpriet
(D) w03nr3 sOoess

14. @2% - T/ — 83’”@&10‘ RW0egoeD, A =

Am - AVC 39, actwots (A) wode
W BT 2T, Q% WeeANWD

(A) NaCl, CaCl,

(B) MgSO,, Na,SO,
(C) NH/C/, NaBr
(D) NaBr, MgSO,

15. aInve, nxectinede’ m,Snny eed
3R ?
(A) 001 M BaCl, s 0.001 M

CaCl,
(B) 001 M BaCl, =% 0.015 M

NaC/
(C) 0.001 M AL(SO,), 32 0.01 M

BaCl/,
(D) 0.001 M CaC/, == 0.001 M

AL(SO,),

16.  2e0IQ Je3 80 T, & TOOTTRMAWS
2.5g ‘X' mRP, 100g w03 2O
WordIH 0.3 °C obH QORI
[K, = 0.52 K kgmol™'] ‘X’ 8 Sreecnv
T, 33, 008030

(A) 26
(B) 13
(C) 52
(D) 65

17. o=mos: E, = +0.76 V %

c+3H_-_-e+3

Elzn_ =+055V

BedE TR wTER D SETTRY olelaleving
MRNE BREITY, BT § cdod TS
%moﬁ@
[2.303RT
F
(A) 5x101
(B) 1x107
€ Ix10?
(D) 3x108

= 0.06:'

18. =@ v mny SES mdeed NaF
T30, 3D, 9T, QEInSRRvATRrn,
UHREEE IR I
(A) O,

(B) F,
(C) H,
(D) Na
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13. Silicon doped with gallium forms 16. Solute ‘X’ dimerises in water to the
> 3 extent of 80%. 2.5g of ‘X’ in 100g of
(A). B DeNooniuEioE water increases the boiling point by
(B) n-type semiconductor 0.3 °C. The molar mass of ‘X’ is
, (K, = 0.52 K kgmol™']
(C) both n and p type semiconductor
RO TR (A) 26
(D) an intrinsic semiconductor
(B) 13
’ (C) 52
14. The pair of electrolytes that possess (D) 65
same value for the constant (A) in the
Debye X Huckel — Onsagar equation, 17.  Given E°+3p+2 =+ 0.76V and E°, -
lm=lm—A Cis .
= + 0.55V. The equilibrium constant
(A) NaCl, CaCl, for the reaction taking place in
(B) MgSO,, Na,SO, galvanic cell consisting of above two
+ 2 303RT
(C) NH,CI, NaBr electrodes is [ =0.06:|
(D) NaBr, MgSO4 (A) 5 x ]0]2
(B) 1x107
9
15, Which ‘of the following pair  of fer A X 10
8
solutions is isotonic ? (D) -3x10
(A) 001 M BaC/, and 0.001 M
CaCl, 18. If an aqueous solutllon of NaF is
electrolyzed between inert electrodes,
(1), 0.0L M Ball; e O.HL5 M NaCI_ the product obtained at anode is
(C) 0.001 M A/,(SO,); and 0.01 M (A) O,
BaCl, (B) F,
(D) 0.001 M CaCl, and 0.001 M (€) H,
Al(SOy), (D) Na
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19. 81 89NT T IORNYY,, CIRITIE, 22. d0oFk, Rofesndnodrt 8 chodrond
T OO ONRE §,0800%0 3 ? $odn Fert obzoessy k = PZe EART
‘(n) wmoog HCI  Rem  uRs NG, 3 000D Seriaay Budged S S9NS

eITeRTIvR), ERven oIRs Lods) SR SRl ?
(B) ZnSO,,, & BT I (A) T
AR (B) Z
C€) =Ho usuoes  AgNO, it v s
o, Reassty soscnt (D) E,
(D) =oodw8 HNO, (Conc. HNO,) 23. zTH mIoQ 0.1 M AgNO; =2
), TEITO T, e, JeDoATRN 0.2 M KI = 3ox Agl me* o)
plerantytal
20. P Hoinsnrs obobo H8E 60 ‘:”; :’od‘:; df“ i e
oty Fprarmtavien S0 DR Besrogd. VT
& 71—
& gobow  deE@ 936 o (A) :sl e Io‘cse;m::c;e;moam:‘
peornteven Wemorns Tabod : oo i : oy
¥ TdcaomD.
(A) 150 dao " e
B) 100 D3 (B) Agl ¢ NO; wQuiam
©) 838 oo RRoABTOS 2306 o SATHS Wer
7 TrEoWBIR.
(D) 50 daR
(C) Agl Soed Ag' wdusmn
21. 2A + 3B — 4C + D 2000 8,007, RROBT FS WS SATN T
C IZgmords onsdeny ‘t' oow TREODWIOD.
BobE). 2.8 x 103 mol L-'S™! (D) Agl ' e K' opuedn
SN, ‘17 oW TORTY, B oxo RROBTT TF W YATT Wer
TRoDTN 8, cdnadensy TRECDWIOT.
: 1 K 58
(A) Z(z.axlo 3)molL gt 24, PIFpons Sed LROToT) LOUWATD
ReoRtYTL
®) 2(28x107)moiL s o
3 (A) AG<0,AH>0,AS>0
52 (2_3,( 10-3 )mol g1 (B) AG<0,AH<0,AS<0
4 (C) AG>0,AH>0,AS>0
®) 2(8x107moiL's) (D) AG<0,AH<0, AS >0
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19. In which of the following cases a 22. The rate constant of a reaction is given
chemical reaction is possible ? by k = PZeE¥RT under standard
(A) gold ornaments are washed with notation. In order to speed up the
dil HC/ reaction, which of the following factors
(B) ZnSO,,, is placed in a copper has to be decreased ?
vessel (A) T
(C) AgNO; solution is stirred with a
By L
copper spoon.
(D) Conc. HNO, is stored in a (C) BothZandT
platinum vessel. ()" By
20. The time required for 60% completion 23. A sol of Agl is prepared by mixing
of a first order reaction is 50 min. The equal volumes of 0.1 M AgNO; and
time required for 93.6% completion of 02 M KI, which of the following
the same reaction will be : : %
statement is correct ?
A) 150 min
(A) mf (A) Sol obtained is a negative sol
(B 2ms with I- adsorbed on Agl.
C) 83.8mi
© Tnm (B) Sol obtained is a negative sol
(D) 30 min with NO; adsorbed on Agl.
21. For an elementary reaction 2A + 3B — © S‘?I obtfmed is a positive sol
4C + D the rate of appearance of C at with Ag™ adsorbed on Agl.
time ‘t’ is 2.8 x 107 mol L7's"!. Rate (D) Sol obtained is a positive sol
of disappearance of B at ‘t’, t will be with K* adsorbed on Agl.
(A) %(Z.SX 103 Jmol Ls~!
4 24. During Adsorption of a gas on a solid
(B) —(2.8x10'3)mol g :
3 (A) AG<0,AH>0,AS>0
© 2(8x10% moiils (B) AG<0,AH<0,AS<0
3 . (C) AG>0,AH>0,AS>0
®) 2(8x10>molL's™)
(D) AG<0,AH<0,AS>0
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25, I, IC FGuw'aos evros 28. oRreipont (A), wOeod m,Reey BaCl,
R, BB [EFATRN  TWOR,E WP

TREIT BTWOCT SNTOIT
3 LT TAPYRWSE. 8 wIoy TUoE
Gl e e HCI 39, 2OeRrrom eu3gmons eRv
(B) oo s (B) wpesoad KMnO, wo,=eass)
TeoF T&ITONTOIT.
(C) #ner® o0 wTBHFN 7t
A T3 B 305N
(D) wadEgsuonr (A) BaSO,, SO,

(B) BaSO,, SO,
(C) BaSO,, H,S

26. e FPETT Ty oY, O (D) BaSO,, H,S
et SRBO  pERacHo ST
20T 08, TR 29. PH; 3Qno8 PH, 39 wop 8resy

TRNG. AT o0
(A) PH; o0 PH; Sh
. Jomrdcinmen P 8 Xosomg)

(A) PUSR TYRS
(B) =roosenss

(C) ue%e&eob {(hydrophobic) WBoNIE. A
(D) wmopRooNEcss (hydrophilic) (B) PH; 39 owog cduorf - wog
o007} DFTFEOID BRBTYT.
(C). PH] oo P8 A3e HF0,388)
27.- R¥ J O SO0 @0mn X aow eRol 2003,
An3E. 3 odndeonteo® @QOR (D) PH; ocdo $&¥es A0
" evandong, X ot Cl, ted 338 Y DRI, BAOOT. ;

o) 83, Y oo ;
- § 30. =ocinh BROAQE etRoln:

{A) 5 SOCL ' (A) XeOF, - :Pmmnos 20200
(B) . SOCh, (B) XeO, - 200B*

©) S,C ' (C) XeF, - waomordecd

(D) SCI, (D) XeF - doRTR00R sFF0D
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25. Copper is extracted from copper 28. Aqueous solution of a salt (A) forms a
dense white precipitate with BaCl,
pyrites by ; A . .
solution. The precipitate dissolves in
(A) Auto reduction dilute HC/ to produce a gas (B) which
o decolourises acidified KMnO,
(B) Thermal decomposition
solution.
(C):' Beduction by com A and B respectively are :
(D) Electrometallurgy (A) BaSO,, SO,
(B) BaSO,, SO,
26. Function of potassium ethylxanthate in (€ Bedls
froth floatation process is to make the (03 BaS0y, Hos
ore .
: 29. Bond angle in PH’, is more than that of
(A) heavier 25 .
PH;. This is because
(B) lighter \ sy
(A) hybridisation of P changes when
(C) hydrophobic PH, is converted to PH:
(D) hydro;;hilic (B) lonepair — bond pair ‘repulsion
exists in PH,
: (©) PHZ has square planar structure
27. Sulphide ore on roasting gives a gas X. & <l ) :
X reacts with C/, in the presence of ()0 DI P I R0Ns) DM
activated charcoal to give Y. Y is :
(A) SOCI, ; 30. Incorrectly matched pair is : :
(A) XeOF; - square pyramidal
(8) 50,04 (B) XeO, - pyramidal
©) S,Ch (C) XeF, - tetrahedral
(D) SCig (D) XeF¢ - distorted octahedral
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31.  RITT Bowwdgedn 34. Cu,Cl, =) CuCl, %OecH w3, B8,
(A) sotnae FEmN AT TF (A) CuCl, oo CuCl, no3 sy
o F ool
oD eFR0Deck TuSoR
5 - s (B) CuCl, o0 Cu,Cl, No3 T
TR adoeD LWOIRFL 23BOT0F0ecD A TG,
TRIRICIOR), BeolT. (C) CuyCl, 3 498esn CuCl, 3 4T3
(B) %o dfudrecmen §TE,aq000 HRTNG.
@io‘:m t-si:gy eaﬁ;ﬁasabq (D) <oz gc’aw%
ERT0IT. 35. [Fe(C0),) % [Co(SCN)I*
. xoderar SoRINYE Fe 2 Co
©) mo opudnecmn wuImd R
' x RTOF 0U0e X0as, o320 8=
-
STBRF TR0 @a,-:p‘f'a‘a (A) 6 54
iRe ST, IR, (B) 34
(D) 2R 2T WOTFRTR FRNITONG. (C) 6=038
(D) 426
32. & NSV, oS rooasd 36. [Co(en),CL]" ZTbrads I QWX
32, 005008¢00  LOIRTNW  aedodoomd RSRONMY %0ad, 03
ROTOSA : (A) 3 (B) 4
o € 2 (D) 5
+ 3+ -+ ‘ .
A, T,y 37 [PNHy),] [PiCly] 8 TUPAC wxomy
(B) VZhCo** Ti* 3RQ. v
(C) Ni** Cu** Zn?* (A) 30 mpesso (1) s dpeodne
(D) Ti?* Cu?* Mn3* Tpedsees (11)
_ (B) e300 dso (o) i3, dpeordne
33. mdeod I° mTr00T 6 FeedIT), TRese (IV)
I, o3 Tddobeo Pewon wy PO (€) v oo smesders (1)
K,Cr,0, o) Spe $h ? - 833, EReoniae TEo (1)
A) 0.5 B) 2 (D) 383,060 Tt (0)
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31.  Phosphorus pentachloride 34. Cu,Cl, and CuCl, in aqueous medium
: Sa i : (A) Cu,Cl, is more stable than CuC/,
(A) exists as an ionic solid in which s
: (B) CuCl, is more stable than Cu,Cl/,
cation has octahedral structure adg b'l-'  CoiCl i ]
t t
and anion has tetrahedral (1 e ; ’1ty A A e
stability of CuCl,
structure.
(D) Both are unstable
(B) on hydrolysis gives an oxo acid
of phosphorus which is tribasic. 35. The co-ordination number of Fe and Co
o
(C) on hydrolysis gives an oxo acid in the complex ions, [Fe(C,04);] and
of phosphorus which is a good [Co(SCN),4]* are respectively :
reducing agent. (A) 6and4
(D) has all the five equivalent bonds. (B) 3 and{
(C) 6and8
(D) 4andé6
32. Identify the set of paramagnetic ions
among the following : 36. Number of stereoisomers exhibited by
(A) SC*, Tid*, V3 [Co(en)ZCI;J* is
i 2+, T4+ (A) 3
(B) V"_’ Co*2Ty (B) 4
(C) Ni** Cu?* Zn** ) 2
(D) Ti** Cu?*s Mn?* =3
; 3. Give .the IUPAC name - of
33. How many moles of acidified K,Cr,0, [Pt(NH;)4] [PtCLy] is
is required to liberate 6 moles of I, (A) tetra ammine platinum (lI) tetra
, e chlorido platinate (1I)
from an aqueous solution of I” ? : .
(B) tetra ammine platinum (o) tetra
(A) 0.5 chlorido platinum (1V)
(B) 2 (C) tetra ammine platinate (II) tetra
chlorido platinum (1)
© 1 (D) tetra ammine platinate (o) tetra
(D) 025 chlorido platinum (IV)
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38. dpeCRaRUs YR RomEromen 41. 23 FINIYrvY, CIRJYTRY Wh IRARN
TR, VY, oY IR TORCINCLRIS. Sgot emy IIND  wIZIWN
A B BockodRy VIR IROYS- BT ?

DocNet P : C4HCH,Br+ CH,0ONa
Q : C4H;ONa + CH,Br
(A) € R : (CH,); C-CI+CH,ONa
(B) cc‘r"1 S : C4H;CH=CHCI/ + CH;ONa
(A) P a3 Q ooze
(C) cocl, s
< (B) R3S 20Re
(D) CH,Cl, (C) PR o0@®
(D) Q=S STER

i Ml iy s nadg 42. e -2 - Lo o Pp B~ 1 -
odt e308 IS §odnbeotona) Lo N TOSFRE S NS BoSHYRy
B0 ? LYRLIeE 8
(A) CH.CI (A) JAxFdesves, aoa%wa emwzéé
(B) CH.CH,CI o HBr 3 Zogews §od,

T, oEQF KOH &eodrf @
(C) CH;-CH,C! e
(D) CH,;-CH,-CH,~ CH,I (B) dxroOewces, HBr & Xoses 8,09,
wdec KOH Seodrt 21
BREB[T0.

0. A _MsBr 4 chNH, SRHF (©) PCl; #e00K wA SREID,
X $ododg Tmodsm ocdwyd X A T WoE9S KOH Snonrt wa
ARG, WTOT TIRONNY ﬁoa%cdw TRBWJD, &), Fen IOFS 0T

BoBos 8,0
Ay 2 (D) PCI, Rno0R 24 SREPE,
(B) 4 EWOTYS KOH Reodr wa
©) 5 SRR, FER, crdpedeRs
nITF S '
(D) 3
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38. Prolonged exposure of chloroform in 41. Which of the following on heating
humans may cause damage to liver. It gives an ether as major product ?
is due to the formation of the following P : C,H;CH,Br + CH;ONa
compound : Q : C¢H,ONa+ CH,Br
(Al R : (CH;); C-Cl+CH;0ONa
g S : C4H,CH=CHCI+ CH,ONa
(C) cocl,
- (A) BothPandQ
(D) CH,CI,
(B) BothRandS
(C) BothPandR
9. Which of the following halide show
, highest feactivity towardi. Sy! r:a:tic(:n : S ot et
(A) CH(CI
(B) C,H.CH,CI 42. The steps involved in the conversion of
_ propan — 2 — ol to propan — 1 — ol are
R in the order
(D) BEsly St = THG P (A) dehydration, addition of HBr in
| presence of peroxide, heating
40. In the reaction : with alc. KOH
/K/MSBI + CH,NH, Dry ether X (B) dehydration, ey (I HBr,
: heating with aq. KOH
The number of possible isomers for the (C) heating with PC,, heating with
SRR PRI 5 1 alc. KOH, acid -catalysed
Aa) 2 addition of water
(B) (D) heating with PCls, heating with
<) 5 alc. KOH, hydroboration -
(D) 3 oxidation
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43. B NIYnYY oY w3 o3 46. R BodS eI LTRSS
TUTRT T3, TN ? gordper DeF Xoot0sy
(A) CH;0" (A) eRRdZE
(B) CH,COO- (B) wZdne
&5 T (C) FBpedne sHnOFE*
(D). OH- (D) &, 8pstne Rz n
CHO (1) dil. NaOH e
44, @’ +CHCHO———P | ¢, n/FeBn | SweonHCI |
2)A
w3 ‘P’ oo | (i) NaNO,,273K
= +
CHO dil. HC! %
(A) Pt (ii) water, warm
L9030 em%aﬁn{ R -
CHO NH,
o\
(B) Br
NO
CH,CHO .
CH=CH - CH; (B)
Br
(©) -
CH = CHCHO (©) @
OH
(D) ° Br
(D) @
‘ N,CI™
45, B NIV, IR 3,03 BA . :
B0 LoD, BRODT ? 48. LINFTE 508
(B) CH,CH,OH (B) (CH,C0),0/ 20ae
(C) CH,-CH,-NH, (C) CgHsSO,CI
(D) CH;-0-CH; (D) CgH;SO,NH,
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43. Which of the following is the strongest 46. The carbonyl compound that does not
Sl undergo aldol condensation is
e * (A) acetaldehyde
(A) CH;0 (B) acetone :
(B) CH,COO~ (C) dichloroacetaldehyde
©) CF (D) trichloroacetaldehyde
(D) OH- NO,
Br,/FeBr: Sn/con.HC1
a0y (1) dil. NaOH 47. @ i——,p =l O
44, +CH;,CHO————P. _ : 2
(2) A (i) NaNO,,273K
+
The product ‘P’ is - :
: CHO dil. HC/ e R
5 CH,CHO (ii)water,war_m e
(A) The final product Ris ' 7
2 .
CHO
(A)
Br
(B) NO,
CH,CHO -
CH=CH- CH,4 ‘ Br
(©) @ Br
CH = CHCHO (©) @
(D) @ OH
Br
45. Which of the following has the lowest (D) @;Izcr Sl i
Posing potnt 3 48. Hinsberg’s reagentis =
(A) HCOOH (A) CH,COCI/ pyridine
(B) CH;CH,OH (B) (CH,C0),0 / pyridine
(©) CH,;-CH,-NH, (C) CgHSO,CI
(D) CH;-0-CH; (D) C4HsSO,NH,
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BT —
TR, ¢¥TED TOTOBTLHE LITRIIT ?
(A) E
(B) A (A) %f&?ﬁ‘
(5)- By (B) = 0exf
est)
(D) D
(O 7§ e
50. <wd -fmw SR lofeplevbis (D) wmes e
(Hypothyroidism) 7 820550080
(A) nRger wurdoecsy
(B) &ue0a*B-12 54. T3 w@;ﬁmrﬁmh ONF  ARF RIS
(C) “amos* s30T Senr g
(D) Tos S’
51. C, - C, 1 Bncxds wogy somd (B) BHA
w0, ©) mgow
(A) =B
(B) SRR vkl e
(C) =odnex'md,
(D) oBBRAIL, 55, SUNSRPNv, cIRTT> B - 869, ©030°
8,03r MoweRay ?
52. & NIYNVY, oI ITOT* 8,08 :
BHOIT LOBTRETE LWENVRY TeolT ? (A) 803 % 80005%
(A) O3 o (B) tseimenson 3¢
(B) “cdred,es*
(C) = e=opmFs (tsoesﬁ.rafafu‘:)
(C) oo
D' O ()= P doy
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; i llowi itamins i ,
or hn NS of'ti?e e (?wmg T 53. Which of the following monomers can
not stored in adipose tissue ?
(A) E undergo condensation polymerization ?
B) A (A) Propene
(C) Bg
B) Styrene
D) D (B) Sty
(C) Glycine
50. Hypo.thyrmdlsm is caused by the (D) Isoprene
deficiency of
(A) Glucocorticoid
()Xo L1 54. A food additive that acts as an anti-
(C) Adrenalin
3 oxidant is
(D) Thyroxine
(A) Salt
51. C, - C, glycosidic bond is NOT found
) (B) BHA
in
(A) starch (C) Saccharin
(B) maltose (D) Sugar syrup
(C) sucrose
(D) lactose
55. Which of the following is not related to
52. Which of the following polymer has drug — enzyme interaction ?
strongest intermolecular forces of
attraction ? (A) enzyme inhibitor
A) Polystyrene
() e (B) allosteric site
(B) Neoprene
(C) Terylene (C) antagonist
(D) Polythene (D) co-enzymes
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57.

0.4 g FH W eud* o 7.1 g & €o,05°
SJeodrt IsFamen, FAR n g
daPrew3d. 273 K =023 1 bar 03w
B9, daPrieed FEe, S RS
g,

(A) 454L

(B) 9.08L

(C) 4.54L

(D) 90.8L

D8 AmT TomesdE  Towodrmed
YN 03RS Tewdodn FOOIRAS 2

(A) ToCoMT WUES TOE BRoS,
RookaRow, CETNY  Kesd,

Buyza.

58.

59.

6 J vBWOI p - wWRPS oD
m&:ﬂﬁg‘ , 3RO faduaup‘ QT,RO0T
toert T, 8RBT :

(A) 4f1% 5d'0 6s2 6pb

(B) 7s% 7p8

(C) 54 64! 7% '7p*

(D) 4f14 5d'0 s> 6p*

NH; @ zocons ¥,T,3, (conjugate
base)
(A)
(B)
©
(D)

NH,
NH;
NH,OH
NH,0H

. (B) TooioAT tWeR Z008 Bupcs, 60. 2.0 AOFR TDTTRT DX wIRTY,,
3 . o038 0, 0
St faduau;\:‘m’ % LOTD BAL QT 195y 25% He m&J_TS/o
s =y CH, m,30m0 Brodss. 81 03,668,
Pe. INRWT  WFPIT  Jesmomd
(C) oobad wvss w8 Sypod, T3, 0T
TRORATOY, TR Y Xoad, (A) 8%
TRZT.
: (B) 75%
(D) = ?,10!\&‘ 5?45”!303, . -{0le] (C) 25%
mxguu@mﬁﬁvﬁoa% B3 ®) 92%
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56. 0.4 g of dihydrogen is made to react 58. The last element of the p — block in 6™

with 7.1 g of dichlorine to form period is represented by the outer most
hydrogen chloride. The volume of electronic configuration :
hydrogen chloride formed at 273 K and (A) 4f'* 5d'0 652 6pb
| bar pressure is B) 72 78
R (C) 5fi4 6d!0 752 7p®
@) Tk (D) 4f'* 5d'0 652 6p*
(C) 454L
(D) 90.8L 59. The conjugate base of NH, is
(A) NH;
57. With regard to photoelectric effect, (B) NH;
identify the CORRECT statement (C) NH,OH
among the following : (D) NH,OH

(A) Number of e ejected increases

with the increase in the intensity
gy : 60. A gas mixture contains 25% He and
of incident light.

75% CH, by volume at a given

(B) Energy of e ejected increases
’ g s ; : temperature and pressure. The
with the increase in the intensity ’
by , percentage by mass of methane in the
of incident light. ¢ i )
mixture is approximately

(C) Number of e ejected increases

(A) 8%

with the increase in the
0
frequency of incident light. Lo
: 1 C) 25%
(D) Number of e~ ejected increases © 2
with the increase in work (D) 92%

function.
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2C0731K (DAY-2, SECOND SESSION)

SUBJECT CODE TIME Question Booklet
_ VERSION | grpiAL NUMBER
C 2.30 PM TO 3.50 PM CODE
TOTAL MAXIMUM TIME : MAXIMUM Total No. of MENTION YOURCET
DURATION | FOR ANSWERING MARKS Questions NUMBER
80 Minutes 70 Minutes 60 : 60

DOs:

W N —

4.
5

This question booklet is issued to you by the room invigilator after 2.30 pm.

Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet.

The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely.

The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTs:

i3

=)

o

THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED. )

The 3 Bell rings at 2.40 pm, till then; :

* Do not remove the seal present on the right hand side of this question booklet.

¢ Do not look inside this question booklet or start answering on the OMR answer sheet.

IMPORTANTINSTIRLO THONS 1O CANDIDATES

In case of usage of signs and symbols in the questions, the ;cgula: textbook connotation should be considered unless stated
otherwise.

This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer,

After the 3™ Bell rings at 2.40 pm, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.

ROCINT &> 3 8N WRONG METHODS

CORRECT METHOD @@@ ONCNCE~SON N N0
COOCPEPOD® @ @O ®

Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

Last Bell will ring at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

Hand over the OMR answer sheet to the room invigilator as it is.

. Afier separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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